EARAROBREBRT —5 XN—ZXBISH—F 2022465817H () 4E1REETH

mc 194 UY>F%—iR \(fﬁ} B ‘I%EH?’JFQ] - | 5 1500 B
[xE%] 1%&:350,000H  2&:116,000M  3#&:70,000H  43%&:46,000H  53&:32,000H
BE\RE FRESS /IR HE B5F (F28) FA4L (5% | BBIEML | E3F |[SIEY | AT | #AE | B FIR) / BF / S£ERS
JE S st 5 | LE 1:39.2 2-2-2-2 | 40.2| - 3 | 434 |ROEE (BER)
11810/ YT13A& 54.0 =) “10) Z Al
RIAEIWN—T B:AY—F4II—Y MEZSI Y R
< 4 o= A : -11-10- - BUIR—3 (BEE)
) 4| EVHYRRS—L i o6 s 1.@.0 11-11-10-3 | 40.1 9 (4:521) g
RiFVINAO— B:bF/FRTAT =L e
. HLE— : -7-7- - RORE (BEHE
] S| 22HILF s 7 Al 1.{18.2 5-7-7-7 | 40.7 4 (4+819) ol ( )
RIZAANTTZwIR B:AXAIVE— N e
g = — » t 4 | RFIFAKER 1:40.3 1-1-1-1 [ 41.4] — 1 431 |TREA (BERE)
41111 |AXAZT0O0-X £ 54:0 /2 0 |FHEX
R:5TU—-F«4 H:RU—H4rO0—-X it i
° 7 | DOEERME 1:40.5 10-10-11-10| 40.5 | — 6 | 472 |FBET (REE)
5(5|5| Y3~ ML—/A— S ) o | @) Tr-2revay
RYDRAI4 TSR B:TUVARAII YT Ya—J7—LA
= = 4 | PR 1:41.0 3-3-3-4 |41.9| - 8 | 406 |MEHMEIE (BEHE)
6(8|11| TYINLT D @ 1/2 G | @) Tr—2revay
RiT—=ILRAMO— B:DAILYF SEI IR
S~ . EEES 141, -9-9- . - TR (BEE)
; 6| F—vvvTIL— it 4 e 1(34/14)1 8-9-9-6 | 41.3 5 (4_520) nhE @
RibE—XO—F— B:ATFH5— AAL—hIT7—L
» RERIER : -6-6- - HLEE (BEE)
8l7l9 FAALFEY 4t 4 i 1.6131).7 6-6-6-7 | 42.3 2 (4:41) e
RIALYIVYLYY B:L—YSA YYD [T
— <, = TE : -4-5- - A (BEE)
9 NECIS PN i 5 %52.% 1.{111).9 7-4-5-5 | 42.5 7 (4+755) e
R:vavFvhyy B:ESYrYYFT— A FA|
Y 4 8 | NEEE— 1:41.9 9-8-8-9 |42.2| — 1 486 | HFLE— (BEE)
108 2 | O—0F41k 56.0 N te) |ROE=
RiFVIRNZAN B:U4YI T LA S—U—- Vv XY - T7—LERE
N KIBHE : -5-4- - HFLE— (REE
111718 JUTJbwv bk "8 56.0 = 1'El_r,z)'9 5t 836 10 (4,37) ROE= ( )
R:O—-IvFUY B:7FUdyhrT4X BT 7—LA
@ 1—F—&RIEL
13—7— 1,10,11,8,7,9,3,6,2,5,4
20—F— 1,10,11,3,8,9,7,2,6,5,4
30—7— 1,10,11,8,3,9,7,2,6,4,5
AT=5r= 1,10,4,11,3,6,(7,9),2,5,8
0 ILRE
BB 10 5804 JA R 4-10 1,960/ e B 4-8 8,120M 3EE 4-7-10 7,720M
B B 10 230 7-10 510 5 & 4-10 9,120/ 3EH 10-4-7 62,630M
4 480 4-7 1,430 B8 10-4 14,330
7 170/

ABIC OV TRUTEREERRODDZE. THRIIZEL.



